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Ex. 1Выбери правильный ответ.
There are three …………. in the field.
a) cowes b) cows c) cow
A man has two …….. .
a) hand b) handes c) hands
All my friends are good ………. .
a) childs b) children c) child
There are many ………… in the house.
a) mice b) mousse c) mouse
This old dog is without …………… .
a) tooth b) toothes c) teeth
Ex. 2. впиши существительные.
One balloon – two …………..

One tree - four …………….

One cat - three ……………..

One frog - two …………..

One bird - four ……………

One star – three ………….

One cow – four …………..

One doll – two …………..

One ball – two ………….

One box – four …………

One brush – seven ………..

One knife – two …………

One rabbit – three …………..
